Software Engineering

Multiple Choice Questions and Answers :-

1.Identify, from among the following, the correct statement.

(a) One of the main challenges Software Engineering facing today is the requirement ost so re
systems to work with a multitude of homogenous systems °

(b) ‘Legacy systems’ are custom developed software systems for the legal dom

(c) Software does not wear-out in the traditional sense of the term, but ware end to
deteriorate as it evolves

(d) Since software is essentially ‘intangible’ it is relatively easy to manage so@ re projects

(e) With the advent of component based software assemblf; we fin nly less than 20% of today’s
software is still custom built. ®
®
Answer : C
Reason: Remaining all are contradictory. A
®
2.Software Engineering:
\ .
(a) Is a set of rules aldgut dev software products

(b) Has been ar ipline since the early 50’s

(c) Started @s ar e to the so-called ‘Software Crisis’ of the late 90’s

(d)Isan i ing discipline concerned with all the aspects of software production
(e) mature discipline on par with other established engineering fields.
Answer : (d)

Reason: Software crisis of the late 60’s .

3.Read the following paragraph and identify the correct statement.



“Imagine that you were recently hired as a software engineer to a company that specializes in aircraft
navigation control software. While orientating yourselves to the company’s work practices, you observe
that they in fact do not conduct a few tests that they should in order to comply with the relevant safety
standard. When you inquire about this from the project manager, he dismisses it saying that those tests
are really unnecessary (and takes an unreasonably long time to conduct, as well as being superfluous)
and that they have managed with the other tests for so long, without any problems.”

(a) You should immediately resign from the company and file a complaint with the relevanit stapdard

institution

(b) You should do nothing and let the matter slide ]

(c) Although you are new to the company, and you hardly know anything about i | processes
and politics, you should insist on the company changing its work practic medi failing which

you threaten to report the matter

(d) Since you are new to the company, and you are unfamiliar witRithe intera rocesses and politics,
you should first find-out more about the issue and its background

(e) None of the above statements are correct. ®
®
Answer : (d)
Reason: D is the appropriate choice. A
®
4.With regard to Evolutionary developm entify the correct statement.
®
(a) Evolutionary dev men ly comes in two flavors; exploratory development, and throw-away
prototyping
(b) Very lar roj natural candidates for an evolutionary development based approach

(c) Expl evelopment is used in situations where most of the requirements are well understood

in advan

(d)
through

e strong points of evolutionary development is that it facilitates easy project management,
e high volume of documentation it generates

(e) Often the construction of a throw-away prototype is not followed by a reimplementation of the
system using a more structured approach.

Answer : (a)



Reason: Evolutionary development usually comes in two flavors; exploratory development, and throw-
away prototyping is the correct statement with respect to Evolutionary development.

5.What is the fundamental reason that software cannot be considered to be engineered?

(a) It is designed by humans and therefore flawed

(b) Software engineering (as opposed to other forms of engineering, such as Civil) is an art — no
science

®
(c) The discipline is relatively new, say in comparison to bridge building that is tivity that®has

millennia of practice

(d) None of these are true. Software Engineering is a truly rigorous disci

(e) The complexity of systems and their interaction continues fast@r than we understand it.
®

Answer : (e) ®

Reason: The fundamental reason that software carfipot Be considered to be engineered is the
complexity of systems and their interaction continues¥@ster than we can understand it.

®

6.The software life cycle can be said t@ consist of a series of phases. The classical model is referred to as
the waterfall model. Which phase maygbe defiped as “The concept is explored and refined, and the

client’s requirements are elicited?
. ®
(a) Requirements
(b) Specification
(c) Design

(d) Implementati

(e) Inte

Answer :Ya)

Reason: In the requirements phase the concept is explored and refined and the clients requirements are
elicited.

7.The individual or organisation who wants a product to be developed is known as the:



(a) Developer
(b) User

(c) Contractor

(d) Initiator

(e) Client.

Answer : (e) \’
Reason: The individual or organisation who wants a product to be developed is k he client.

8.Which of the following items should not be included in the software projecteffanagement plan?
®

(a) The techniques and case tools to be used ®
(b) Detailed schedules, budgets and resource alloc °
(c) The life cycle model to be used

(d) The organisational structure of the development organisation, project responsibilities, managerial
objectives and priorities

(e) None of the above.

®
\ .
Answer : (e) Q

Reason: The sofgware ct management plan should include: the life cycle model to be used, the
organisatio tr f the development organisation, project responsibilities, managerial objectives
and prioritigs, theyli cle model to be used, detailed schedules, budgets and resource allocations.
9.Th rm of testing COTS software is testing.

(a) Unit

(b) Integration
(c) Alpha
(d) Module

(e) Beta.



Answer : (e)

Reason: Beta testing occurs when a commercial form of the software is released to selected clients.

10.In the maintenance phase the product must be tested against previous test cases. This is known as
testing.

(a) Unit
(b) Integration ®

(c) Regression

(d) Module
(e) Beta.
®
Answer : © °
Reason: Regression testing occurs when the produ sted st previous test cases. This most
frequently occurs in the maintenance phase. ®
®
11.Which property of the rapid proto is not impertant?
®
(a) The speed with which it evelgoed
(b) The speed with which i ified
(c) Its ability to deter the clieént’s real needs
(d) The insi t esign team can gain from it, even if they are of the ‘how not to do it’ variety
(e) Its internal
Answ

Reason: The sole use of the rapid prototype is to determine what the client’s real needs are as rapidly as
possible. The rapid prototype is then effectively discarded so its internal structure is not relevant.

12.An example of the risk involved in software development is



(a) Key personnel may resign before the product is complete

(b) The manufacturer of critical components (e.g. the hardware associated with a real-time system) may
go bankrupt

(c) Technology changes may render the product obsolete
(d) Competitors may market a fully functional lower-cost equivalent package

(e) All of these are risks involved in software development.

Answer : (e) \Q

Reason: There are many risks involved in software development.

13.A simple way of looking at the spiral software life-cycle model a waterfall model with each phase
proceeded by ®

(a) Build-and-fix

(b) Freezing ®
(c) Synchronization
(d) Testing

(e) Risk analysis.

\ .
Answer : (e)

Reason: A simple wa oking®at the spiral software life-cycle model is as a waterfall model with each
phase proceed iskanalysis.

14.The ipteraction between two modules is known as

(a) Coheston
(b) Strength
(c) Inheritance
(d) Coupling

(e) Instantiation.



Answer : (d)

Reason: The degree of interaction between two modules is known as coupling.
15.The relationship between a derived class (or subclass) and base class is referred to as

(a) Association
(b) Inheritance
(c) Polymorphism
(d) Instantiation

(e) Aggregation.

Answer : (b) ®

Reason: A derived class inherits all the attributes o @ p cla§.

®
16.Myers (1978) identifies seven levels.ef cohesiomyWhich level of cohesion may be defined as followed;
“the output from one element in the gom en%«serves as input for some other element”?

(a) Communicational coh \ ®

(b) Functional cohesi
(c) Communicatienal ¢ jon
(d) Temporal'cohes

(e) Non se.

Answer ¥a)

Reason: In communicational cohesion the output from one element in the component serves as input
for some other element.

17.A design is said to be a good design if the components are



(a) Strongly coupled

(b) Weakly cohesive

(c) Strongly coupled and Weakly cohesive
(d) Strongly coupled and strongly cohesive

(e) Strongly cohesive and weakly coupled.

Answer : (e) \’

Reason: You should aim to maximize the interaction within a module and minimi raction
between modules.

®

18.If a control switch is passed as an argument this is an example coupling.

(a) Content

(b) Common

(c) Control ®

\.

Reason: Two magdules ntrol coupled if one passes an element of control to another.

(d) Stamp

(e) Data.

Answer : (c)

19.Whi following is a type of abstraction?

(a) Data

(b) Procedural

(c) Iteration

(d) All of the above

(e) None of the above.



Answer : (d)

Reason: The three types of abstraction (data, procedural and iteration) are all instances of the more
general concept of information hiding.

20.In the classical chief programmer team approach, the team member responsible for maiafaining the
detailed design and coding is

(a) The chief programmer

(b) The programming secretary

(c) A specialized function that exists outside ‘the team’

(d) The individual coder (i.e. programmer) e

(e) The back-up programmer.

Answer : (d) ®

Reason: In the classical chief programmer t proach’the team member responsible for maintaining
the detailed design and coding is the individual coder (i.e. programmer).

®
21.Internal costs include \
®

(a) Developers salari

(b) Managers a rsonnel salaries

(c) The costof oMerheads such as utilities, rent and senior managers
(d) Mat s manuals) and services such as travel

(e) above.

Answer : (a)

Reason: Internal costs comprise all the costs to the developers.

22.Problems with using Lines of Code to measure the size of a product include(s)



(a) The creation of source code is only part of the development effort

(b) The Lines of Code (LOC) will differ between languages and cannot be measured for some languages
(c) Should comments, data definitions etc (i.e. non-executable LOC) be included as well?

(d) The final size (kLOC) can only be determined once the product is delivered

(e) All of the above.

Answer : (e) \’

Reason: There are many problems with using Lines of Code to measure the size 0 ct.
23.Software Science bases its estimation of the size of a product

(a) Files (Fi), Flows (Fl) and Processes (Pr) ®
(b) Lines of Code (kLOC) °

(c) Function Points (FP)

(d) operands and operators

(e) Feature Points (FeP). ®

®
Answer : (d) \

Reason: Software Scigfgce bas estimation of the size of a product on the number of operands and
operators.

24.In In jate LOCOMO the mode that represents complex products is referred to as

(a) Embedded

(b) Semidetached
(c) Organic

(d) Multiplicative

(e) Monolithic.



Answer : (a)

Reason: In Intermediate COCOMO there are three modes: organic, semidetached and imbedded.

25.Work that continues throughout the project and does not relate to any specific phase of software
development is termed a(n)

(a) Milestone \Q

(b) Project function
(c) Activity
(d) Task
(e) Baseline.
®
Answer : (b)

®
Reason: Work that continues throughout the ptoject aRd does not relate to any specific phase of
software development is termed a project tien. °

®
26.The advantage of following the IEEEStanda¥d for drawing up a Software Project Management Plan
(SPMP) — see IEEE Standard 1059@7 3
®

(b) It is designe

(c) Itis a frame

Answer : (e)

Reason: There are many advantages of using a standard.



27.The best way to test the Software Project Management Plan (SPMP) is by

(a) Prototyping
(b) Inspection

(c) Simulation
(d) Compilation «
(e) Debugging.

®
Answer : (b)

Reason: The best way to test the Software Project Management Plan (S issby a plan inspection by
the SQA team. In order to further reduce risk the duration and co timates should further be

independently computed by people other than the original projecfteam. o

®
28.Algorithmic cost estimation in different organisations m&erent for the same application
®

development, because

(a) Different organisations consider complexity fa rsgifferently

(b) Different organisations may use differ rogramming languages

(c) Developers’ skills may vary
®
(d) Techniques for the me % nfef productivity may vary
be tr

(e) All of the above

Answer : (

Reason: img@tion incorporates a number of factors.

29.The aifm of software engineering is to produce software that is

(a) Fault-free

(b) Delivered on time

(c) Delivered within budget



(d) Satisfies users’ needs

(e) All of these are the aims of software engineering.

Answer : (e)

Reason: The aim of software engineering is to produce software that is fault-free, delivered on time,
delivered within budget, and satisfies users’ needs.

30.0bject-oriented concepts are not new. The first OO language was considered to be\Q

(a) ALGOL-68

(b) FORTRAN 77

(c) C ¢
(d) MODULA ®

(e) SIMULA 67.

Answer : (e) ®

Reason: The first OO language was cofisidesed tt‘be SIMULA 67.

31.Software engineering Q&at@ approach to the

(a)Developmentgef so
(b)Operatiaft of softwar

of seftware

Answer : (e)

Reason: Software engineering is the systematic approach to the development of software , operation of
software , maintenance of software and retirement of software .



32.Brooks’ view of the essence of software included

(a)People, Quality, Process and Productivity
(b)Performance, Robustness, Maintainability and Reusability
(c)Complexity, Conformity, Changeability and Invisibility
(d)Efficiency, Reliability, Usability and Robustness

(e)Accuracy, Testability, Visibility and Changeability.

Answer : (c)
Reason: Brooks’ view of the essence of software included CompleXity, confor , changeability
®

&invisibility.

®

33.What is the essence of software engineering?

®
(a)Requirements Definition, Design Represent , Kn®wledge Capture and Quality Factors
(b)Maintaining Configurations, Organjzing amiChanneIing Creativity and Planning Resource Use

(c)Time/Space Tradeoffs, Optimizing Pr inimizing Communication and Problem Decomposition
(d)Managing Complexity, i ers8nnel Resources, Managing Time and Money and Producing
Useful Products

(e)Maintaining Com ication, Wlanaging unuseful products and Not optimizing process.

Answerg(d

R n: sence of software engineering is managing complexity, personnel resources, time and
mo roducing useful products.

34.Which of the following is a life-cycle concern?

(a)Testing

(b)Portability



(c)Programming
(d)Planning

(e)All of the above.

Answer : (d)

Reason: Planning is life-cycle concern.

35.Which best captures the nature of the quality paradigm? \‘

(a)The Nature of Quality, A Process Perspective, Defect Elimination

(b)Process, Product, People, Problem

(c)Measurement, Quality Control, Validation *
(d)Feasibility, Requirements, Economics, Customer’s Needs ®

(e)Analysis, Testing, Design. °

Answer : (a) ®

Reason: Process perspective and defegt e t#on best captures the quality paradigm.

®
36.Prototyping is approp

(a)Data-oriente jcati

(b)Applications phasis on the user interface

(c)Appli are highly interactive

ent teams who lack domain experience

(e)All of the above.

Answer : (e)



Reason: Prototyping seems appropriate for Data-oriented applications, Applications with emphasis on
the user interface, Applications which are highly interactive and Development teams who lack domain
experience

37.What are the major activities of the spiral model of software engineering?

(a)Planning, Risk Analysis, Engineering, Customer Evaluation
(b)Defining, Prototyping, Testing, Delivery

(c)Requirements

(d)Quick Design, Build Prototype, Evaluate Prototype, Refine Prototype

(e)Testing.

Answer : (a)
®

Reason: Planning, risk analysis ,engineering and customer e ation are the important four major
activities of the spiral model. °

®
38.In choosing a development life-cycleinodel, ongwould consider the

®

(a)Development Group Expertiseﬁble aracteristics, User Expectations
®

(e)System Anal r interface, Testing.

Ans
Reason: Choice A is the apt among all the answers for choosing a development life cycle model.

39.What are the factors to be considered when planning a software development effort?

(a)Performance, Problem, Product, Planning



(b)People, Problem, Product, Process
(c)People, Problem, Productivity, Performance
(d)People, Problem, Product, Portability

(e)Productivity, Programming, Performance, Pay-Off.

Answer : (b)

Reason: People, Problem, Product& Process factors are considered when planning a sofgware
development effort. Q®

40.Which of the following could be a deliverable for a software system?

(a)Source Code

(b)Reference Manual ®
(c)Requirements Document

(d)User’s Guide

(e)All of the above. ®

Answer : (e)

®
Reason: Soruce code, ref &ual ,equirements document and user’s guide are the deliverables
for a software system.

41.Which of, iQg is not viewed as a primary mover in improving the software process?
(a)imcrea ectiveness
(b)Be duct Quality

(c)Improved Staff Satisfaction
(d)Reduced Costs

(e)Tighter managerial control.



Answer : (e)

Reason: Tightermanageiral control is not viewed as a primary mover in improving the software process
42.Symptoms of the software crisis would include

(a)Software delivered behind schedule

(b)Software exceeding cost estimate
(c)Unreliable ¢

(d)Difficult to maintain
(e)All of the above.

®
Answer : (e)

Reason: When software delivered behind schedule, software,exce ﬁg cost estimate ,unreliable and

difficult to maintain then it is said that software cri
®

43.Which of the following projects would be a on®for adopting the prototyping paradigm for
software development?

®
(a)Accounting System \ °
(b)Spreadsheet Q
(c)Automobile Cruise rol

(d)Telepho I stem

(e)Algebra Tut

Answ

Reason: Algebra Tutor would be a good candidate for adoting the prototyping paradigm.

44 Views of quality software would not include



(a)Optimizing price and performance
(b)Minimizing the execution errors
(c)Conformance to specification
(d)Establishing valid requirements

(e)Maximizing errors.

Answer : (b)
Reason: minimizing the execution errors would not included in views of quality, ware. ¢

45 .Software configuration activities would not include

(a)ldentify change

(b)Control change

(c)Ensure improper implementation of change ®
(d)Report change to interested parties °

(e)All of the above.

Answer : (c) ®

Reason: Software configuration Qes Id include proper implementation of change.
®

46.In planning a softWage proj ne would

(a)Find ways to

results using limited resources

(d)Structure the team to prevent administrative interference

(e)All of the above.

Answer : (a)

Reason: In planning a software project | would find ways to produce results using limited resources



47.A systematic approach to software development, as epitomized by the various life-cycle models, is
useful in

(a)Helping us understand the nature of the software product
(b)Convincing the customer that we know what we are doing
(c)Filling texts on software engineering

(d)Managing the various activities necessary to get the job done \Q

(e)Testing the entire project

Answer : (d)

Reason: A systematic approach to software development, as epitomized e various life-cycle

models, is useful in managing the various activities necessafy to get t done.
®
48.A process view in software engineering would co whieh of the following
®
(a)Product performance
. ®
(b)Staffing
(c)Functionality \ °
(d)Reliability Q
(e)Usability.

ing is the apt choice among the given

49.Software measurement is useful to

(a)Indicate quality of the product

(b)Track progress



(c)Assess productivity
(d)Form a baseline for estimation and prediction

(e)All of the above.

Answer : (e)

Reason: Software measurement is useful to , indicate quality of the product, track progres§’ \assess

productivity and form a baseline for estimation and prediction.
‘\\\\0

50.Which of the following is not a ‘concern’ during the management of a soft roject?

(a)Money

(b)Time *
(c)Product quality °
(d)Project/product information

(e)Product quantity.

Answer : (e) °

Reason: Product quantity would not inc ring the management of a software project.

51.What would be i ing Requirements analysis?
(a)System p€rform est Scheduling, Organizational Structure
latf@rms, Competition

xt , User Populations, User Tasks

(e)Validation, Informal methods, Inaccuracy.

Answer : (c)

Reason: C is the right choice.



52.Which of the following is not a description of planning?

(a)Planning is used to find credible ways to produce results with limited resources and limited schedule
flexibility

(b)Planning is finding new personnel resources to support labor intensive development
(c)Planning is identifying and accommodating the unforeseen

(d)Planning is blending the efforts of many people to produce a product that satisfies the Gustomner’s
need

(e)Planning is negotiating compromises in completion dates and resourcggallocati

Answer : (b) e

Reason: Planning is finding new personnel resources to sugport labor sive development is not
descriptive of planning ®

®
53.The information we need to capture during Kequire ts analysis not include

®

(a)Hiring Authority ®

(b)Communication Paths
®
(c)Synchronization

(d)Temporal Depen ies

(e)Data Aggreg

54.What do you call when two modules are coupled, when they communicate via a composite data
item?



(a)Content coupling
(b)Common coupling
(c)Control coupling
(d)Data coupling

(e)Stamp coupling.

Answer : (e)
Reason: Stamp coupling is that when two modules are coupled if they communi@ate via co o%te data
item.

55.Which among the following measures how strongly the eleme ithin a madule are related?
®

(a)Coupling °

(b)Cohesion

(c)Aggregation

(d)Inheritance ®

(e)Abstraction.

Answer : (b) \ ®

Reason: Cohesion measures rongly the elements within a module are related.
56.What dafyou ca the elements of a module, all operate on the same data?

(a) io hesion
(b)Temparal cohesion
(c)Procedural cohesion
(d)Communicational cohesion

(e)Coincidental cohesion.



Answer : (d)

Reason: when the elements of a module all operate on the same data we call it as a communicational
cohesion.

57.Which tests are designed to confront the program with abnormal situations?

(a)Recovery testing

(b)Security testing ®
(c)Stress testing

(d)Performance testing

(e)Usage testing.

®
Answer : (c) °
Reason: Stress testing is to confront the program wi norm ations.
®
58.To which software category does Knowle sed System belongs?

(a)System software

®
(b)Real time software \ ®

(c)Embedded softwa
(d)Personnel software

(e)Artificialgntelli S are.

An

Reason:¥Artificial Intelligent software belongs to knowledge based system.

59.Which is not involved in software development process?

(a)People



(b)Problem
(c)Practice
(d)Process

(e)Product.

Answer : (c)

Reason: practice is not involved in software development process. \
®

60.Which of the following are direct measures?

l. Size.
®
II. Effort.
1. Schedule. °
IV. Quality. °
(a)Both (I) and (ll) above ®
(b)Both (1) and (lIIl) above ®
(c)Both (1) and (IV) above
(d)Both (I1) and (IIl) abov \ *
(e)All (1), (1), (111) an abov
Answer : (
Reason: , schedule and quality are the direct measures.

61.How does a software project manager need to act to minimize the risk of software failure?

(a)Double the project team size
(b)Request a large budget

(c)Form a small software team



(d)Track progress

(e)Request for more period of time.

Answer : (d)

Reason : a software project manager need to act to minimize the risk of software failure by Tracking the
progress of software

62.To be an effective aid in process improvement the baseline metrics used must be Q®

(a)Based on reasonable estimates from failed projects

(b)Measured consistently across projects

(c)Drawn from large projects only

(d)Based only on successful projects °

(e)Drawn from failed projects.

Answer : (b) ®

Reason : To be an effective aid in progess i roement the baseline metrics used must be Measured
consistently across projects

\ .
63.Empirical estimation m typically based on

(a)Expert ju e on past project experiences
(b)Refi t reht project estimation

odels derived from historical project data

(d)Tri rror determination of the parameters and coefficients

(e)Estimation of present data.

Answer : (c)

Reason : Empirical estimation models are typically based on Regression models derived from historical
project data.



64.Which of the following is not the guiding principle of software project scheduling?

(a)Compartmentalization
(b)Market assessment

(c)Time allocation

(d)Effort validation

(e)Interdependency. A
Answer : (b)

Reason : Market Assessment is not one of the guiding principles of{software ect scheduling:

65.The tools for computing critical path and project completion ti $from activity networks is/are
®

I. CPM.

Il. DRE.

. FP.

IV. PERT.
)

(a)Both (1) and (Il) a
(b)Both (1) and

(c)Both (I1) @nd abeye
(d)Both bove

(e)AINL), (1) and (IV) above.

Answer : (b)

Reason : Two tools for computing critical path and project completion times from activity networks are
CPM &PERT



66.The purpose of earned value analysis is to

(a)Determine how to compensate developers based on their productivity
(b)Provide a quantitative means of assessing software project progress
(c)Provide a qualitative means of assessing software project progress
(d)Set the price point for a software product based on development effort

(e)Provide qualitative and quantitative measure of assesing software project progress.

Answer : (b)

Reason : The purpose of earned value analysis is to Provide a quantitati s of assessing software
project progress

67.The rapid application development model is °
®
(a)Same as component-based development
(b)A useful approach when a customer canno ine r@guirements clearly
(c)A high-speed adaptation of the lingar se enf"al model

(d)Same as incremental model

(e)Same as water fall moQ\ ®

Answer : (c)

Reason : Th€rapid ion development model is A high-speed adaptation of the linear sequential
model.

68.W he following is not an objective for building analysis models?
(a)Define set of software requirements that can be validated

(b)Describe customer requirements

(c)Develop a solution for the problem



(d)Establish basis for software design

(e)Define set of software requirements that can be verified.

Answer : (c)

Reason : Develop a solution for the problem is not an objective for building analysis models?

69.The entity relationship diagram \
®

(a)Depicts relationships between data objects

(b)Depicts functions that transform the data flow

(c)Indicates how data are transformed by the system

(d)Indicates system reactions to external events

(e)Depicts the physical design of the data. ®
®

Answer : (a)

®
Reason : The entity relationship diagragadepicts ré@lationships between data objects
®
70.Which of the following is not Qa of concern in the design model?
®

(a)Architecture
(b)Data design

(c)Interfaces de
(d)Project sgop

(e)Mod €

Answer : (d)

Reason : Project Scope is not an area of concern in the design model

71.Coupling is a qualitative indication of the degree to which a module



(a)Can be written more compactly

(b)Focuses on just one thing

(c)Is able to complete its function in a timely manner
(d)Is connected to other modules

(e)ls able to completed its logic in a timely manner.

Answer : (d)
Reason : Coupling is a qualitative indication of the degree to which a module is nected t%er
modules.

72.Which of the following interface design principles reduces the ’s memoryload?
®

I. Define intuitive shortcuts °®

. Disclose information in a progressive fashion

[Il. Establish meaningful defaults

IV. Provide an on-line tutorial ®

(a)Only (1) above

(b)Only (Il) above \ ®
(c)Only (I1) above

(d)(1), (1) and (N o

(e)All (1), (1)F7{11) andy(IV)above.

An

Reason g he following Define intuitive shortcuts ,Disclose information in a progressive fashion, Establish
meaningful defaults interface design principles reduces the user’s memory load

73.Black box testing is also called



(a)Specification-based testing
(b)Structural testing
(c)Verification

(d)Unit testing

(e)Stress testing.

Answer : (a)
Reason : Black box testing is another name for Specification-based testing. ¢

74.Which configuration objects would not typically be found in the proje%ase;‘
®
(a)Design specification
®

(b)Marketing data

(c)Executable code °
(d)Test plans
®
(e)Test procedures.
®
Answer : (b)
®
Reason : Marketing data @ 10, objects would not typically be found in the project database
75.Which of the I k(s) is/are not part of software configuration management?

[1l. Statistical quality control.

(a)Only (1) above
(b)Only (I1) above

(c)Only (I1) above



(d)Both (1) and (II) above

(e)Both (1) and (lIl) above.

Answer : (c)

Reason : the following task Statistical quality control is not part of software configuration management

76.Which box specification is not associated with cleanroom approach? \
®

(a)Black box

(b)Clear box

(c)State box

(d)White box

(e)Silver box. ®
®

Answer : (d)

®
Reason : White box specification is notassociatedWith cleanroom approach

®

77.Which of the following is not Q:al r of the application in client server system?
®

(a)Presentation laye

(b)Application |

(c)Data Manag yer
(d)Progr i r
(e)Busi yer.
Answer : (d)

Reason : Programming is not a logical layer of the application in client server system

78.Which of the following is true for a thin-client?



(a)Processes application logic

(b)Performs data management task

(c)Places heavy processing load on the server
(d)Makes use of processing power of the client

(e)Places heavy processing load on the client.

Answer : (c) \’

Reason : Places heavy processing load on the server
79.Traditionally, the phase of software development where a formial approachslised is
®

(a)Programming ®
(b)Design °
(c)Requirements

(d)Planning

(e)Testing. L Y

®
Answer : (a)
Reason : Traditionall e onl se of software development where a formal approach is used is

Programming.

80.Do ineefing in CBSE is to

ication of components
(b)Catalogue reusable components
(c)Domain modeling

(d)Structural modeling

(e)All the above.



Answer : (e)

Reason : Domain Engineering in CBSE is toldentification of components,Catalogue reusable
components,Domain modeling, Structural modeling.

.

81.Build & Fix Model is suitable for programming exercises of LO e ‘of Code).
a) 100-200

b) 200-400 ®

c) 400-1000 °

d) above 1000

Answer : (a) ®

Reason : Build & Fix Model is suitableffor small p‘ojects & programming exercises of 100 or 200 lines.

82.Which one of the folIoQ&ls‘ot suitable for accommodating any change?

a) Build & Fix M

b) Prototyping Mo

c) RAD
d) f del
Answer : (d)

Reason : Real projects rarely follow the sequential flow that the Waterfall Model proposes

83.Which is not one of the types of prototype of Prototyping Model?



a) Horizontal Prototype
b) Vertical Prototype
c) Diagonal Prototype

d) Domain Prototype

Answer : (c)
Reason : Their is no such thing as Diagonal Prototype whereas other options h heir res tR/e
definitions

84.Which one of the following is not a phase of Prototyping Mode

®

a) Quick Design °
b) Coding

®
c) Prototype Refinement
d) Engineer Product ®
Answer : (b)
Reason : A prototyping m@&tesﬁnly a working model of a system
85.Which of th lo atements regarding Build & Fix Model is wrong?
a)Nor strugtured design
b) comes unfix-able & unchangeable
¢) Maintepance is practically not possible

d) It scales up well to large projects

Answer :(d)

Reason : Build & Fix Model is suitable for 100-200 LOC



86.RAD Model has

a) 2 phases
b) 3 phase

c) 5 phases

d) 6 phases
®

Answer : (c)

Reason : RAD Model consists of five phases namely:Business modeling, eling,Process
modeling,Application generation and Testing & Turnover.

®

87.What is the major drawback of using RAD Model? °
®

a) Highly specialized & skilled developers/desighers aratequired.
b) Increases re-usability of components. ®
c) Encourages customer/client feedback.
d)Botha & c. \
Answer : (d) Q
Reason : The cligat ma te an unrealistic product vision leading a team to over or under-develop
functionalit 0, cialized & skilled developers are not easily available.
8 ic ese are not among the eight principles followed by Software Engineering Code of Ethics
and ional Practice ?
a) PUBLIC

b) PROFESSION
c) PRODUCT

d) ENVIRONMENT



Answer : (d)

Reason : rest all are clauses for software ethics, environment does not focus on specific clause nor its of
importace related to question

89.What is a Software ?

a) Software is set of programs. Q®
b) Software is documentation and configuration of data.
c)Bothaandb

d) None of the mentioned

®
Answer : (c) °
Reason : Software is not just set of program but it i assoc documentation and configuration of
data to make program run. ®
®

90.Which of these does not account fi ftware fatlure ?

®
a) Increasing Demand \ e
b) Low expectation Q
c) Increasing Supply

d) Less reliablea sive.

Reasofy asing supply will lead to more production and not failure.

91.What are attributes of good software ?

a) Software maintainability.



b) Software functionality.
c) Software development.
d)aandb.

e)a,bandec.

Answer : (d)

Reason : Good software should deliver the required functinality, maintainability. Software development
is not an attribute but a fundamental Q®

92.Which of these software engineering activities are not a part of softw@are proce
a) Software dependence. *
b) Software development. °
c) Software validation.

d) Software specification.

Answer : (a) °

Reason : Software dependence is an at nd not an engineering activity for process
®

93.Which of these is j

a) Softwareféngine longs to Computer science.

b) Soft inegring is a part of more general form of System Engineering.
ience belongs to Software engineering.

d) Softwage engineering is concerned with the practicalities of developing and delivering useful
software.

Answer : (c)

Reason : Software engineering is a vast sub domain which comes under computer science which is main
domain



94.Which of these does not affect different types of software as a whole?

a) Heterogeneity
b) Flexibility

c) Business and social change

d) Security \
®

Answer : (b)

Reason : Option b & c are a part of Software Engineering as a subject,he jon a covers them both.

94.The fundamental notions of software engineering does acco
®
a) Software processes °
b) Software Security
c) Software reuse

d) Software Validation ®

®
Answer : (d) \

Reason : Software v ioni ctivity for software process and not the fundamental for engineering.

95.Which ofith

a) d to availability of software services and possibility of developing highly distributed service
based systems.

b) Web based systems have led to degradance of programming languages.
c) Web brings concept of software as service.

d) Web based system should be developed and delivered incrementally.



Answer : (b)

Reason : Web based systems has led to important advances in programming languages

96.ldentify the correct statement: “Software engineers shall

a) act in a manner that is in the best interests of his expertise and favour.”

b) act consistently with the public interest.”

c) ensure that their products only meet the SRS.” ¢
d) none
Answer : (b)
®
Reason : Software engineers shall act in a manner that is in best ts of their client and

employer consistent with the public interest and shall ens
modifications meet the highest professional standards possi

that thq‘r products and related
Thus options a & c are ruled out

97.Efficiency in a software product does notli e

a) responsiveness

b) licensing \ °
c) memory utilization Q

d) processing time

sing of a software product comes under corporate part of the software company.

98.The reason for software bugs and failures is due to

a) Software companies

b) Software Developers



c)Bothaandb

Answer:c

Reason : Software companies are responsible for making policies and providing working atmosphere for
the software development, so in turn these companies become a part of software development
process.Bugs from developers side is no new thing. Thus option c answers the question.

99.Company has latest computers and state-of the- art software tools, so we shouldn’t Werry about the
quality of the product. *

a) True

b) False
®

Answer : (b)

®
Reason : The infrastructure is only one of the severs t@t determine the quality of the product.

®
100.Which one of the following is not a ep&&'rement engineering?
®
a) elicitation
®
b) design

c) analysis

d) documentati

uirement Elicitation, Requirement Analysis, Requirement Documentation and Requirement
the four crucial process steps of requirement engineering.Design is in itself a different phase
of Software Engineering



